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e sin(a+ ) = sinacos 8 + cos asin e sin(a — ) =sinacos f — cosasin 3
e cos(a+ 3) = cosacos f — sinasin e cos(a— ) = cosacos f + sinasin
_ tana +tan 3 _ ,_ tana —tanf
L * tan(a+ ) = 1 —tanatanf o tan(a —f) = 1+ tanatan 8
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PQ®* = (cosa — cosB)? + (sina — sin 3)? O
= cos?a + sin® a + cos? B + sin? 3
—2cosacos S — 2sinasin 5
= 2 —2(cosacosf + sinasin f)
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2 — 2(cosaccos f + sinasin ) = 2 — 2 cos(a — )
cos(aw — ) = cosacos B + sin asin 3 (1)
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cos(a — (—=0)) = cosacos(—/f) + sinasin(—/)

cos(a + ) = cosacos f — sinasin 3 (2)
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COS((%—Q) —6) = cos (g—a> cos 3 + sin (g—a> sin 3
cos <g — (« +ﬁ)> = sin avcos 8 + cos asin 3
sin(a + ) = sina cos B + cos asin (3)
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sin(a — ) = sina cos(—f) + cos asin(—f)
= sinacos f — cos asin (4)
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sin(a + ) sinacos § + cos asin 3
cos(a + B)  cosacos 3 — sinasin 3

tan(a + ) =
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sin v cos 8 + cos asin 3 sin v N sin 3
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_ tana+tan(—f8) = tana —tanf
tan{a — ) = 1 —tanatan(—3) 1+ tanatanp (6)
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in g+ bsing =7 —sind + - sind ‘

asind + bsin T(r Sin +rsm ) 0O a
= r(cos asin @ + sin v cos 6)

= rsin(f + «)
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